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40. a) Decay b) Growth c) Decay

41. a) b = 1.23 b) b = .826 c) b = 1.0093 d) b = . 9896

42. a) 1.8% decrease b) 95.4% increase c) 8.5% increase d) 63% decrease

43. a) 524001.065−7 = 33,720.0 b) 524001.0657 = 81,429.

44. a) 130000.94814 = 61,555 b) 130000.948−11 = 233,912
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1. a) Degree=10 b) Degree=4

2. a) 10r3 − 30r2 b) 7k6j3 + 14k3j5 − 21k2j7

3. a) 4m3m − 1 b) 2w39w2 + 4 c) 4a2b36a2 − 5b2a + 3b4

4. a) m2 + 4m − 21 b) a2 − 7a + 10 c) 6r2 + 7r − 5 d) w2 + 14w + 49

e) y2 − 64 f) 9n2 − 4 g) 2k3 + 13k2 + k − 21

5. a) 2x2x − 33x − 5 b) r + 6r − 5 c) 2y + 35y − 4 d) x + 7x − 9

e) c + 82 f) 4w + 32w + 1 g) 5p − 2p − 6 h) 3c + 7c − 2

i) w − 6w + 6 j) 3w − 103w + 10 k) 7g2g − 52g + 5
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